Econ 330

Fall 2002

Answers to Week 5 Questions

1. Real wage per hour in 1992 is (20/120)*100=16.67. Real wage per hour in 2002 is (25/135)*100=18.52. So the growth rate is (18.52-16.67)/16.67=0.11 (11%).

2. The nominal interest rate, i, is obtained by solving 0.05=i*(1-0.5)-0.05. (Recall Fisher equation) So i=0.2. Present value of this consol is 200/0.2=$1,000.

3. (2,000-Price)/(Price)=0.25. Ss price is $1,600.

4. Net income = Total revenue minus Total expense = 6,000-5,000 = $1,000. Retained earning = Net income minus Dividends = 1,000-100=900. In order for the firm to invest $2,000. it needs to borrow $1,100 (=2,000-900).

5. Premium above par = Price – Face value = 276-250 = $26.

6. Such tax rate, t, has to satisfy RCD*(1-t)=RMB. 0.15(1-t)=0.05. t=0.67.

7. Face value, F, can be obtained by solving 200=0.2*F. So F=$1,000. Therefore, P=200/(1+0.15) + (200+1,000)/(1+0.15)(1+0.20)=173.91+869.57=$1,043.48.

8. Price = Face value – (Discount yield*Face value)/(360/ number of days until maturity) = 200-(0.05*200)/(360/90)=200-10/4=$197.5.

9. The nominal interest rate for the first period, i1, is obtained by solving Fisher equation, 0.04=i1*(1-0)-0.06. So i1=0.1. Since the price of this bond is $1,100, it must be the case that Price = $1,100 = 110/(1+0.1)+(110+1210)/(1+0.1)(1+i2) where i2 is the nominal interest rate for the second period. Solving this, we can get i2=0.2. Then by Fisher equation, 0.05=0.2*(1-0.5)-pi where pi is the expected inflation rate for the second period. Solving this, the expected inflation rate for the second period is 0.05 (5%).

10. The liquidity effect is smaller than the income effect, the price-level effect, and expected inflation effect. The adjustment to expected inflation is fast.

11. Due to the decrease in liquidity of bonds relative to other assets, both the bond demand curve and the loanable funds supply curve shift to the left. Due to the decrease in the expected profitability of investments, both the bond supply curve and the loanable funds demand curve shift to the left. As a result, both the quantity of bonds and that of loanable funds decrease. But the price of bonds and the interest rate are indeterminate. (Verify this in your diagram)

12. Due to the increase in wealth, both the bond demand curve and the loanable funds supply curve shift to the right. Due to the decrease in the government deficit, both the bond supply curve and the loanable funds demand curve shift to the left. As a result, the price of bonds increases and the interest rate decreases. But both the quantity of bonds and that of loanable funds are indeterminate. (Verify this in your diagram)

